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Special credit will be given for accuracy and relevance
in the answer. Marks will be deducted for incorrect
spelling, untidy work and illegible handwriting.
The weightage for each question has been
indicated in the margin.

Time : 4 Hours

Part -1
et — =
@A QB0 AT e U ¢ 20 x 1 =20

1. 31 (4 [rT=a , 2014-9 (*F QY IVEI &) (sl
NHETRS wE fefete @it “frw oifersl eige

PP -
As on As on
01.01.2014 31.12.2014
Rs. Rs.
Raw Materials 32,000 39,200
Work-in-progress 25,200 9,200
Finished goods (at cost) 32,800 ?

(3000 units) (2500 units)
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Other information for the year :
Purchase of Raw Materials Rs. 2,23,200
Sales of Finished goods

( 40500 units) Rs. 5,67,000
Production wages Rs. 1,34,400
Office & Administrative expenses Rs. 41,600

Selling & Distribution expenses Re. 1 per unit
sold.

Machine hours worked = 8000 hours
Machine hour rate = Rs.5:00
Assume sales are made on 'FIRST IN FIRST OUT'
basis.

2. @b Tesim W Sl @il A, B, ¢, D @8 E
R A, B @3 C 2ET SeoAm [@isi| D @32 E
T CRIFE et Feffie s fefets 4,
B @38 C e [l & elfe &y w5l forg

Rs.
Indirect Materials 30,000
Indirect Wages 20,000
Depreciation on Machinery 50,000
Depreciation on Building 10,000
Rent, Rates & Taxes 20,000
Electric power for machinery 30,000
Electric power for lighting 1,000
General expenses 30,000
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Items Total A B C D E
Rs. Rs. Rs. Rs. Rs. Rs.
Direct
Materials | 1,20,000| 40,000 20,000| 38,000 12,000 10,000
Direct
Wages 80,000| 30,000 30,000{ 8,000[ 4,000( 8,000
Value of
Machinery | 2,50,000| 60,000 1,00,000| 40,000| 25,000 25,000
Floor Area
(sq.ft.) 50,000{ 15,000 10,000 10,000 10,000[ 5,000
H.P. of
Machine 150 50 60 30 5 5
No. of light
points 50 15 10 10 5 10
Labour
hours 15,000/ 5,000 5,000, 2,000| 1,000| 2,000

CRIFIA e D 8 EF Ualzaw fMfeike o

OIS | 367 341 A :
A B C D E
DS ¥ 20% | 40% | 30% | — | 10%
EQ ¥ 40% | 20% | 20% | 20% | —
et — ¢
C-CPIE WB 0o Tee e 2 12 x 2 =24

3. a) iz TIREET ¢ oAfvew eTREer e
o ST P2 |

b) FET R @e [ @RR 2 @ IR 2
T2ITRRI0 @I fezicel (=TT 27 2

4. @I AN @b W I T=ImMEs o5
160 hours @& @ | @ IR F9AMEAT &) (-

Y (Time allowed) ¥®%1 200 hours

| =BIfY

AP (T WG 2o Rs. 2-50 | WIS onfaeife
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AV *Iafs m @ P Works Cost siofel
PP :

a) WASfES TG A

b) DT RIRRT s

o  CARA RN ffx=msi |

AT OTR

i) Material cost = Rs. 240

ii) Factory overhead = 125% of wages.

a) G0 TRAMNFIL! ALY FAP [HHEIRS O
ATGHT (IR :

Annual consumption — 16000 units

Cost per unit — Rs. 60

Cost of placing an order — Rs. 120

Annual storage cost — 10% of the cost of
the component.

Q@ TRAFIE] AT GPANE PO ] FAIRANES
™ M@ T FE@ ALY AR® [ A

A A ?
b) Ol for3e
i) TE® BT
i) S W 6+3+3
et — of
R-FE @B AT T T ¢ 6x1=6

a) Cash received from the contractee ( to the
extent of 90% of work certified ) is
Rs. 3,60,000.

What would be the value of work certified ?
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b)  Profit (National) earned from contract is 9. TlRe e sfv TR (@ 2014-15 39 i
Rs. 90,000. Stage of completion of the EEIGERTH T TP (AT &A1Y S Ndiqe s :
contract = 65%. Cash received from the Profit & Loss A/c for the year ended 31.03.2014
contractee is Rs. 3,60,000, which is 90% of Particulars Rs. Particulars Rs.
the cost of work certified. To Salaries 58,350 | By Gross Profit
From the above information, determine the ' Ressgie dfe(:)tzt 1900 | " Bank b/d | 4,15,902
amount to be transferred to Profit & Loss " Insurance 2910 Interest 38.500
A/c and the amount of profit provision. " Income Tax 23,200 | " Dividend on
2+ 4 " Professional Tax 2,500 Shares 10,245
" Sales Tax 19,175
7. FolRF ¢ wFeie ®o T ¢ 2 dfewfcfes " Loss on sale
of car 15,000
T IR PO @9 T Q%1 29 2 3+3 " Interest on loan 25,900
" Interest on
Part - II capital 9,050
el — = " Depreciation 38,100
@RI @ 2a Teg e 3 20 x 1 =20 Net Profit 2,69.262
IS o SN Nl o _ 4,64,647 4,64,647
8. M ¢ @oew e WP WHkie wyel E———

TRRAIE TR | 2014-15 9 €< IwE@@ &

e CF-@3 FIEIT (WMo @& Fefg T
Basic salary Rs. 21,000 p.m.

Salary includes Rs. 24,000 drawn by proprietor.
Depreciation allowable as per IT. Rule

D.A. @ 30% of Basic salary Rs. 32,500. et — o

House Rent Allowance received Rs. 4,000 p.m. e

and he pays rent of Rs. 4,800 p.m. R-CRIE i% oTHd Teg i ¢ 12 %2 =24
City compensatory allowance Rs. 1,000 p.m. 10. T2 oW-93 (reT TR wR U fofe 3@
He spent Rs. 12,000 during the relevant previous 2014-15 9 <=9 IWEL &) W‘Wﬂ% (A= ATS
year for the medical expenses of his wife in a IS AT el T

recognised medical institution and his employer i) Municipal value = Rs. 80,000

reimbursed the entire amount. ii)  Fair rent = Rs. 85,000
Entertainment allowance @ Rs. 600 p.m. iiij Rent per month =Rs. 5,000

Children's education allowance to meet iv) Municipal Tax =Rs. 8,000

expenditure of three children Rs. 5,000 each. v) Interest on loan = Rs. 12,000

Car allowance Rs. 1,000 p.m. but he spent 60% of the property is let out and 40% is self
Rs. 800 p.m. for travelling for his official duties. occupied.
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a) 1961 MEW WP WEF TIE FAO
e e |

b) SIS IR WA GG el i e |

¢ NPT W WAl R W el Qi
|

2013-14 2[{<9 IO &= W S @ @ie

1% 257 Rs. 6,00,000 | fofv fHEe @emieie

O BT Gl PEA -

i) Life Insurance Premium paid for himself
Rs. 5,000 and for his dependent son
Rs. 4,000.

ii) His own contribution to Public Provident

Fund Rs. 12,000 and Rs. 6,000 to
unrecognised provident fund.

iii)  Contribution to unit linked insurance plan
of UTI Rs. 20,000

iv) Interest on National Savings Certificate
Rs. 8,000

\Y| Repayment of House Building Loan (HBL)
Rs. 48,000 ; Interest on HBL Rs. 18,200

vi) Purchase of National Savings Certificate
Rs. 5,000

vii) Deposited to Pension Fund of LICI
Rs. 10,000.

viii) He spent Rs. 18,000 towards his son's
education fee to a school.

Calculate the eligible amount of deduction for the
Assessment Year 2014-15.
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13.
14.

et — of
@A @ 4T Teg e ¢
TP AT FACE Bl o7 |

Mr. Saha purchased a land on 18.02.1979 for
Rs. 25,000. The land was sold on 12.02.2014 for
Rs. 61,000. Expenses on transfer were 5% of the
sale price. The market value of the land as on
01.04.1981 was Rs. 70,000.

Compute Capital Gains for the Assessment Year
2014-15 ( Cost Inflation Index : 1981-82 = 100;
2013-14 =939).

6x1=6

B.Com.-514-Y



ECO-V (UT-282/15)

English Version
Part - I
Group - A
Answer any one question. 20x1=20
From the following information for the year
ended on 31.12.2014 prepare a Cost Sheet :

As on As on
01.01.2014  31.12.2014
Rs. Rs.
Raw Materials 32,000 39,200
Work-in-progress 25,200 9,200
Finished goods (at cost) 32,800 ?
(3000 units) (2500 units)
Other information for the year :
Purchase of Raw Materials Rs. 2,23,200
Sales of Finished goods
( 40500 units) Rs. 5,67,000
Production wages Rs. 1,34,400
Office & Administrative expenses Rs. 41,600

Selling & Distribution expenses Re. 1 per unit
sold.

Machine hours worked = 8000 hours

Machine hour rate = Rs.5:00

Assume sales are made on 'FIRST IN FIRST OUT

basis.

A manufacturing concern has five departments —

A, B, C, D and E. A, B and C are production

departments, D & E are service departments.

From the following information, determine

overhead recovery rate per hour for production

departments — A, Band C:

Rs.
Indirect Materials 30,000
Indirect Wages 20,000
Depreciation on Machinery 50,000
Depreciation on Building 10,000
Rent, Rates & Taxes 20,000
Electric power for machinery 30,000
Electric power for lighting 1,000
General expenses 30,000
B.Com.-514-Y [ Sie= *Bra w8y
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Items Total A B C D E
Rs. Rs. Rs. Rs. Rs. Rs.
Direct
Materials | 1,20,000| 40,000 20,000| 38,000| 12,000 10,000
Direct
Wages 80,000| 30,000 30,000{ 8,000| 4,000{ 8,000
Value of
Machinery | 2,50,000| 60,000 1,00,000| 40,000| 25,000| 25,000
Floor Area
(sq.ft.) 50,000| 15,000 10,000/ 10,000 10,000| 5,000
H.P. of
Machine 150 50 60 30 5 5
No. of light
points 50 15 10 10 ) 10
Labour
hours 15,000/ 5,000 5,000, 2,000 1,000] 2,000

Overhead of service departments D and E will be
apportioned as follows :

A B C D E
Expenses of D | 20% | 40% | 30% — 10%
Expenses of E | 40% | 20% | 20% | 20% —
Group - B
Answer any two questions. 12 x 2 =24

3. a) Discuss the relationship between Cost
Accounting and Management Accounting.

b)  What do you mean by 'Idle time' ? What are
its reasons ? How will it be shown in cost
accounting ?

4. A worker takes 160 hours for performing a job.

Time allowed for doing the job is 200 hours.
Labour hour rate = Rs. 2-50 per hour. Calculate
the works cost of the job under the following

methods of payment of wages :
Time rate
Halsey premium plan
Rowan premium plan
Additional information :
Material cost = Rs. 240
Factory overhead = 125% of wages.

a)
b)
0
i)

ii)
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a) Following information are available for a
manufacturing concern :

Annual consumption — 16000 units

Cost per unit — Rs. 60

Cost of placing an order — Rs. 120

Annual storage cost — 10% of the cost of
the component.

Determine the quantity to be ordered at a
time to minimise cost.

b)  Write notes on the following :

i) Maximum level

ii) Reorder level. 6+3+3

Group - C
Answer any one question. 6x1=6

a) Cash received from the contractee ( to the

extent of 90% of work certified ) is

Rs. 3,60,000.

What would be the value of work certified ?
b) Profit (National) earned from contract is

Rs. 90,000. Stage of completion of the
contract = 65%. Cash received from the
contractee is Rs. 3,60,000, which is 90% of
the cost of work certified.

From the above information, determine the
amount to be transferred to Profit & Loss
A/c and the amount of profit provision.
2+4
What do you mean by normal and abnormal
loss ? How are they treated in Process Costing ?

3+3
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Part - II
Group - A
Answer any one question. 20x1=20

Mr. Sen, a resident of India, gave you the
following information. Compute the taxable
salary of Mr. Sen for the Assessment Year
2014-15.

Basic salary Rs. 21,000 p.m.
D.A. @ 30% of Basic salary

House Rent Allowance received Rs. 4,000 p.m.

and he pays rent of Rs. 4,800 p.m.
City compensatory allowance Rs. 1,000 p.m.

He spent Rs. 12,000 during the relevant previous
year for the medical expenses of his wife in a
recognised medical institution and his employer

reimbursed the entire amount.
Entertainment allowance @ Rs. 600 p.m.

Children's education allowance to meet

expenditure of three children Rs. 5,000 each.

Car allowance Rs. 1,000 p.m. but he spent

Rs. 800 p.m. for travelling for his official duties.
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9.  From the following Profit & Loss A/c, determine
the business income of Mr. Kundu for the
Assessment Year 2014-15 :

Profit & Loss A/c for the year ended on 31.03.2014
Particulars Rs. Particulars Rs.
To Salaries 58,350 | By Gross Profit
" Reserve for b/d | 4,15,902
bad debt 1,200 | " Bank
" Insurance 2,910 Interest 38,500
" Income Tax 23,200 | " Dividend on
" Professional Tax 2,500 Shares 10,245
" Sales Tax 19,175
" Loss on sale
of car 15,000
" Interest on loan 25,900
" Interest on
capital 9,050
" Depreciation 38,100
" Net Profit 2,69,262
4,64,647 4,64,647
Other information :
Salary includes Rs. 24,000 drawn by proprietor.
Depreciation allowable as per ILT. Rule
Rs. 32,500.
Group - B
Answer any two questions. 12 x 2 =24
10. From the following particulars of house of

B.Com.-514-Y

Mr. Sen, compute the Income from House
Property ( for the Assessment Year 2014-15) :
i) Municipal value = Rs. 80,000

ii) Fair rent = Rs. 85,000
iiij Rent per month = Rs. 5,000
iv)  Municipal Tax =Rs. 8,000

V) Interest on loan = Rs. 12,000
60% of the property is let out and 40% is self
occupied.

RSEREERE
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11.

12.

a) Define 'Assessee’ as per I.T. Act, 1961.
b)  Define 'Person' as per I.T. Act.

c) Explain 'Agricultural Income' as per I.T.
Act.

Total Income of Mr. Arpan Roy was Rs. 6,00,000
during the previous year 2013-14. He deposited
his savings under the following schemes :

1) Life Insurance Premium paid for himself
Rs. 5,000 and for his dependent son
Rs. 4,000.

ii) His own contribution to Public Provident
Fund Rs. 12,000 and Rs. 6,000 to
unrecognised provident fund.

iiij)  Contribution to unit linked insurance plan
of UTI Rs. 20,000

iv) Interest on National Savings Certificate
Rs. 8,000

V) Repayment of House Building Loan (HBL)
Rs. 48,000 ; Interest on HBL Rs. 18,200

vi) Purchase of National Savings Certificate
Rs. 5,000

vii) Deposited to Pension Fund of LICI
Rs. 10,000.

viij He spent Rs. 18,000 towards his son's
education fee to a school.

Calculate the eligible amount of deduction for the
Assessment Year 2014-15.
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Group - C
Answer any one question. 6x1=6

13. Write a note on 'Casual Income'.

14. Mr. Saha purchased a land on 18.02.1979 for
Rs. 25,000. The land was sold on 12.02.2014 for
Rs. 61,000. Expenses on transfer were 5% of the
sale price. The market value of the land as on
01.04.1981 was Rs. 70,000.

Compute Capital Gains for the Assessment Year
2014-15 ( Cost Inflation Index : 1981-82 = 100;
2013-14 =939).
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